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Answers

You probably also want to list key vocabulary on the board and review meaning for a warm-up.
1. 10, 20, 15, 5, 50 

2. positive

3. 6
4. Biology connection, how flowers grow and fight for position to obtain light.

5. 4

6. 8000

7. 2

8. Something like probability trees with vertex edge graphs considered important as well.  
          1 person         10shootings            10chains             60 murders
9. Domino theory, with the first one being knocked over many more will fall.

10. various answers in solving smaller problems resulting in ability to solve larger problems can be discussed.
11. 10, 10, and 60

12. Isolated – can solicit many perspectives and related to math many combinations of thought process would be acceptable.  Maximized- in the case of this episode, the killer wishes to set off a chain reaction that will result in as many gangster related deaths as possible, but again the perspectives as related to math could stimulate great discussion.

13. Common places churches, community centers, police stations, etc.

14. Common denominators are the head policeman (Gary Walker), and John Owens (the eventual alleged perpetrator) from the community center.

15. In serial killing situations, logic is used to trace back to the first incident if possible, because there is usually a personal connection that can lead to the criminal.

16. The 1st chain proves the theory (that Charlie’s math backs) that the killer wished to maximize gang member death, and eventually it turns out to show the personal aspect for John Owens connection (which was indeed not the first person killed in the 1st chain).
17. Bryan
18. He was killed by a gang member, Jesse Orasco who ends up dying 2nd in the first chain.

19. Sinclair, conflict/resolution, respect.
Title:  __________________________





Act 1:


The rap song in the opening scene has words about life that say: “___% luck, ____% skill, ____%  concentrated will, ___% pleasure, ____% pain.”





Later Charlie is relaxing when his dad is going out on a date.  He talks about the two English mathematicians’ theory on female receptiveness (dating tips).  Draw the applicable trend below:





                         Man spends $ 














                                                 0


                                                           Female’s willingness to date him  


           


                        


Is there a positive, negative, or no correlation trend?  (Circle the correct answer)  
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The agents, Charlie, and the head policeman are discussing a map with flags that represent gang related shootings for the past ____ months.





The question is “was undercover agent, Rhymes, discovered?”  Charlie notices “patterns in the flags.” (on the map)





What was the analogy Charlie used for people fighting for territory? ______________


____________________________________________________________________


____________________________________________________________________________________________





The FBI and police stage a generic ‘round up’ to gather information, while Charlie starts analyzing the patterns in the data.  He decides to look at ___ years of gang related shootings.











Larry comes in the garage (Charlie’s math at home haven) sneezing, Charlie asks how many gang related shootings does he think occurred in the past 4 years, and the answer was _____.





Now the FBI has rounded up a few guys and one named Anthony has given agent Sinclair a bit of trouble by running into the community center.





Anthony has ____ outstanding warrants, but the agents really want information on Travis another member of the 23rd street gang.





When Travis is being interviewed by the FBI he reveals that their undercover was not compromised and in fact retaliation to the Hoover Park gang was occurring at that moment.
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The FBI agents say the victim is “isolated,”  Don disagrees based on Charlie’s discovery.  Charlie adds that it is “not random,” and agent Reeves says, “So you mean victims are chosen specifically to maximize retaliation?” (and therefore shooting chains) 


What do you think means mathematically? ________________________________________


___________________________________________________________________________


___________________________________________________________________________





A “serial killer theory” emerges, and the agents discuss other facts (like bullet evidence) and deduce that the “gun buyback program” contains another clue.


How do the places where they deal with the gun buyback program fit in the puzzle?  ___________________________________________________________________________


___________________________________________________________________________


___________________________________________________________________________


Is there a common denominator in the people who handle the collected guns? ____________


_____________________________________________________________________________________


____________________________________________________________________________________________


Who do you think (after the second major crime) committed the crime? ___________


____________________________________________________________________


____________________________________________________________________________________________
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The very first victim the FBI looks at is Omar Brice.  Why do they think victim #1 might be the key to solving this crime? __________________________________________________________________________


__________________________________________________________________________





Then they start looking at the retaliation shootings (from the 1st chain), and see Jesse Orasco was the second victim, why is this important? ______________________________________


___________________________________________________________________________


___________________________________________________________________________





John Owens the mentor at the 23rd street community center has a son ________ who was 15 years old, what happened to him? _______________________________________________


__________________________________________________________________________


___________________________________________________________________________





Agent ____________ returns to help his community, and starts teaching young people ____________/_____________ which is a method to “work things out, at the community center.  He says they should  have more ____________.








While the agents, the head policeman, and Charlie are discussing related police field service reports, Charlie says there are patterns in the shootings, make a diagram of what you think they are:


























He then gives another analogy about the shooting chains to further explain what they look like.  That analogy was using _________________.  He says these chains are network graphs.





At the university Amita, Charlie, and Larry talk about how hard the problem is because there is so much information.  Larry suggests solving smaller problems or solving part of a larger problem can lead to solving the “big” problem.





Can you think of an example in your experiences that you did this?  Explain. _______


____________________________________________________________________





Charlie goes home and excitedly proclaims that there are ____ chains, started by ____ shootings, and with the entire ensuing retaliation; 1 person is responsible for ____ murders! 
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